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(b)y=7Tx2"D & X logyy=
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(a) logyz = 5@}:%3;: 2
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(a) log, 32 = 5

(b) log, (%) = =2

() ok (3) = =4

(d) logy 2 = ‘

(e) logy 1 = O

(f) log, 0.5 = -‘

(g) log;, 1000 = 3



4. ROEFEZE Lz S0,
(a) logg 2 + logg 3 = 1

(b) log, 32 — logy, 4 = 3

() 1+logg 4 = l?l» 24

(d) logs 15 — logs 3 = 1

(e) logy 12 — log, 24 = -1

(f) log, 40 — log, 5 = 3

(g) logyo4 + 2logyy 5 = Z

(h) logs 20 — 2log: 2 = ’

(i) logy 10 — log, 2 = Z

G) log 27 3
J logs 9 N I

(k) logy 12 — 21og, 3 + log, 6 = 3

(1) 2log, % + logs 136 + logs 12_5 = 0



